ojn



® o @ a* ® o

@ a®

a



3. 3xty+ (=3x%3) x 2x%yt S 7HAs] oA ?

O —2x%y? @ -— ® 2x%y?

@ —18x*y!? ® 9xy?



4. TR FolA ol AL

1
O 1-25+2% @y—§x2+z @ +1+d°

@ xy+xyz ®






@O 3x2
x2 4+ 3xy + 2

@ 9x?
x? + 6xy + y?

@ 347
x2 4 6xy + 2

® 9x?
x% + 9xy + y?

® 9x?
x2 4 3xy + 2



®
5q2 L
1



8.

(x =y +2)(x+y+2) &AM A8l 7P

O {(x+y) -z} {(x+y) +2}
@ {(x=y) =z} {(x+y) -2}
® {x-(+2}{x+ (-2}
@ {(x+2)-y}{(x+2)+y}
® {(x-2)-y}{(x-2)+y}

orar
=2 =

N



9. o= I™HAA phell siFste Ae BE =Y

Frels
i
7h
360 s
@ — ® 0.23452731 - -



=7 (" 2 70)

ojn



[t
ol



. .

Ul ul

2 @



13. 5°3 = 5r x| | oA | |o] g9

O 25 @ 5 ® 625 @ 125 ® 75



14.

3 =AZt S o, ok F 93+ 97 9] g} T2 A2?

@® A @ A2 ® A3 @

| =



15. 7z 2ot (
“toler

%
2a

) Azl gelst ()

D R
=%



_ﬂ_, ol
qo.ﬁm



17.

—(3x%y — 9xy?) +

D
=%



6a® + 2ab B ab + 4b?
3a 2b

D L
=%

18. & es] spofet



sholat

g7

ot 500 A A} 2] S=2t

]
™

2~
an

d

-

Ul



1 1 1
20. S@4x=24+24 <— ST
24 x +2x 1 i i T

ehfgle wl, BRel Babe] 48 Fatolet,

5 S
=%

) &7l






@ 0.3 ® 0.5 @ 0.7 ® 0.9

@ o0.i



1

23. x= -3y =3 LW 3xy(x—y) - (%7 - 4xy?) = 20y & 2
T-5hH?
50 50 40 40 35
O — @ -— ® — @ —— 6 2



x—2y+1
3

24. A=2"2 B=

5 A, 4A - 6B & x, y of g Aoz
LERH 2

@® 4x+2y-2 @ 2y-2 @ 4x-2y+2

@ -x+4y+3 ® x-4y+3






